
PDS Rev1 

                              

H   01 Production Chart & Subcontractor Allowances                   $ ___________                               

H   02 Services                     $ ___________ 

Readings and reports         $ ___________ 

 Electrical Power Unit cost $____ x 6,000x 81=     $ ___________

 Fire Main Unit cost $ ____ per m³ x 40=     $ ___________

 Gangways (x2)         $ ___________ 

Internet / Phone         $ ___________

 Potable fresh Water Unit cost $ ____ per m³ x 5x81=    $ ___________ 

Sewage Connection        $ ___________ 

Garbage Removal        $ ___________ 

Oily Bilge W ater  Unit $ ______per m ³ x 50m³     $ ___________ 

Cranage Unit $ _____ per hr x 20      $ ___________ 

 

H   03 Dock and Sea Trials                                                           $ ___________ 

H   04 Anchors and Cable Survey                                    $ ___________ 

 3.1.5 Stud repair        $ ___________ 

 3.1.7 Anchor chains        $ ___________ 

 

H   05 Chain Lockers                                                                                $ ___________ 

 3.1.7  Unit cost $ ____ per liter x 250 =     $ ___________ 

 3.1.8  Unit cost $ ____ per shot x 200 =     $ ___________ 

 

H   06 Freshwater Tank Maintenance                        $ ___________ 

3.1.11  Unit cost $ ____ per m2 x 100 =      $ ___________ 

 

H   07 Above Waterline Hull Coating and CCG Identity                                     $ ___________ 

3.1.3  Unit cost $ ____ per m2 x 10 x 2=     $ ___________ 

3.1.5 Unit cost $ ____ per m2 x 50 =      $ ___________ 

 

H   08 5 Ton Crane Inspection                                              $ ___________ 

allowance          $ 15,000.00 
Mark up an allowance (Max 10%) $15,000 x 10 % =     $ ___________ 

allowance          $ 5,000.00 
Mark up an allowance (Max 10%) $5,000 x 10 % =     $ ___________ 
3.1.12 Unit cost $ ____ per shot x 100 =     $ ___________ 
3.1.13 Unit cost $ ____ per m2 x 5 =      $ ___________ 

 

 

 

 



PDS Rev1 

H   09 Fixed Fire Systems Inspection                       $ ___________ 

allowance          $ 10,000.00 
Mark up an allowance (Max 10%) $10,000 x 10 % =     $ ___________ 
allowance          $ 5,000.00 
Mark up an allowance (Max 10%) $5,000 x 10 % =     $ ___________ 
 

H   10 Replace Fire Main Pipe in # 5 Starboard Wing Tank                            $ ___________ 

H   11 FM200 Bottle Inspection and Testing                                                                              $ ___________ 

allowance          $ 10,000.00 
Mark up an allowance (Max 10%) $10,000 x 10 % =     $ ___________ 
allowance          $ 25,000.00 
Mark up an allowance (Max 10%) $25,000 x 10 % =     $ ___________ 

 

H   12 Lifeboat and Davit Annual Inspection                                          $ ___________                                     

H   13 Miranda Davit Annual Inspection            $ ___________ 

allowance          $ 40,000.00 
Mark up an allowance (Max 10%) $40,000 x 10 % =     $ ___________ 
Labourer  Unit cost $ ____ per hr x 120 =      $ ___________ 

Milwright Unit cost $ ____ per hr x 120 =      $ ___________ 

 

H   14 Liferaft Inspection                                              $ ___________   

allowance          $ 15,000.00 
Mark up an allowance (Max 10%) $15,000 x 10 % =     $ ___________ 

                  

H   15 Repair Cracked Weld on 40 Ton Crane           $ ___________ 

HD   01 Drydocking                                           $ ___________  

3.1.8 Unit cost $ ____ per hr x 25 =       $ ___________                                                  

 

HD   02 Underwater Hull inspection and Coating            $ ___________    

Cost of enclosure         $ ___________ 

Cost to mechanically remove 30% of coating      $ ___________                                                           

 

HD   03 Hull 10 year Survey UT Testing                  $ ___________ 

3.1.5 Unit cost $ ____ per hr x 16 =       $ ___________ 

 

HD   04 Hull Butts and Seams                                                     $ ___________ 

Gouging   Unit cost $ ____ per ft x 750 =     $ ___________ 

Welding   Unit cost $ ____ per ft x 2000 =    $ ___________ 

Manlift/operator  Unit cost $ ____ per hr x 8 =    $ ___________ 

 

 



PDS Rev1 

HD   05 Port Propeller Survey                                                  $ ___________ 

3.1.2 allowance        $ 50,000.00 
Mark up an allowance (Max 10%) $50,000 x 10 % =     $ ___________ 
3.1.12allowance         $ 20,000.00 
Mark up an allowance (Max 10%) $20,000 x 10 % =     $ ___________ 

3.1.29  Unit cost $ ____ per plug install x 1 =     $ ___________ 

     
HD   06 Port Tailshaft Replacement and Survey                    $ ___________   

3.1.2 allowance        $ 40,000.00 
Mark up an allowance (Max 10%) $50,000 x 10 % =     $ ___________ 

3.1.14  cost supply and install…..  =      $ ___________ 
3.1.43 allowance        $ 20,000.00 
Mark up an allowance (Max 10%) $20,000 x 10 % =     $ ___________ 
 

HD   07 Seabay Maintenance                                                 $ ___________  

3.1.7  Unit cost $ ____ per anode x 40 =     $ ___________ 
3.1.8  Unit cost $ ____ per m2 x 80 =      $ ___________ 

        
HD   08 Rudder and Stock Survey                                       $ ___________ 

3.1.44 Facing of tiller thrust face      $ ___________ 

Facing of thrust plate.       $ ___________ 

Supply of new thrust plate      $ ___________ 

 

HD   09 Ballast Tank and Voids Cleaning Inspection Testing          $ ___________  

3.1.1 Unit cost $ ____ per m2 x 22 =                  $ ___________ 

3.1.5 Unit cost $ ____ per m2 x 32 =                  $ ___________ 

3.1.9 Unit cost $ ____ per m2 x 215 =                  $ ___________ 

 

HD   10 Bubbler Piping Thickness Testing                                $ ___________   

3.1.6 Unit cost $ ____ per 10 shots x 2500 =          $ ___________                                                          

 

HD   11 Marelco Seabay Anodes                                          $ ___________ 

 allowance         $ 15,000.00 
Mark up an allowance (Max 10%) $15,000 x 10 % =    $ ___________ 

 

HD   12 Cathelco ICCP Hull Protection System                   $ ___________ 

 allowance         $ 10,000.00 
Mark up an allowance (Max 10%) $10,000 x 10 % =    $ ___________  

                                                      

HD   13  Fuel / Miscellaneous Oil Tank Cleaning / Inspection / Testing                      $ ___________ 

 3.1.4 Unit cost $ ____ per m3 x 17 =               $ ___________ 

                                                     

HD   14 Bilge and Ballast Pump Overboard Discharge                                          $ ___________ 

HD   15 Seabox Maintenance                                                      $ ___________ 

Unit cost $ ____ per m2 x 100 =                   $ ___________ 



PDS Rev1 

 

HD   16 Sea Valves and Overboard Discharges                        $ ___________                                                     

 

HD   17        Port Shafting System Alignment             $ ___________ 

3.1.2 allowance        $ 50,000.00 
Mark up an allowance (Max 10%) $50,000 x 10 % =    $ ___________ 

Unit cost $ ____ per worker/day x3 x 10 =                 $ ___________ 

3.1.4 allowance        $ 15,000.00 
Mark up an allowance (Max 10%) $15,000 x 10 % =    $ ___________ 

     3.1.10  quote for the removal of one main engine clutch.    $ ___________ 
 

HD   18        Port Tailshaft Coupling & Morgrip Bolts             $ ___________  

 
 HD 19       #2 Port & Stbd DB F/O Tank Repair                                                                             $ ___________ 
 

3.1.1 Unit cost $ ____ per m3 x3  =                                                 $ ___________ 

3.1.7     1m2   13mm grade A steel plate                                           $ ___________ 

3.1.7     Unit cost $ ____ per meter x 4 =                                                                   $ ___________ 

 
E   01 Sterntube Water Quality System Installation             $ ___________                                        

3.1.2 allowance        $ 5,000.00 
Mark up an allowance (Max 10%) $5,000 x 10 % =    $ ___________ 

3.1.3 allowance        $ 10,000.00 
Mark up an allowance (Max 10%) $10,000 x 10 % =    $ ___________ 

  

E   02 Safety Valve Re   certification                       $ ___________ 

3.1.3 allowance        $ 10,000.00 
Mark up an allowance (Max 10%) $10,000 x 10 % =    $ ___________ 

 

E   03 Gearbox Lube Oil Pumps Survey                         $ ___________    

3.1.6 allowance        $ 10,000.00 
Mark up an allowance (Max 10%) $10,000 x 10 % =    $ ___________ 

                                                                 

E   04           Port & Stbd CPP Oil Distribution Box Overhaul                      $ ___________  

3.1.1 allowance        $ 50,000.00 
Mark up an allowance (Max 10%) $50,000 x 10 % =    $ ___________                        

 

L   01 Foremast Navigation Light Re   positioning                      $ ___________        

 

Total           $ ___________                                


